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Qunpeflwed / ECONOMICS

(SO wOHMIL HYrdle el / Tamil & English Version)

ST erey : 3.00 wewfl Crrbd ] [ Qorgs wHibuanser : 90
Time Allowed : 3.00 Hours ] ' [ Maximum Marks : 90

SiNeyemrsst : (1)  Simansg elamés@Ephd slurs uHeurdl o drersT eraugemer sfluTTEsié
QameTemayd. SFsliLHefer GammuimUde, iemns FarsrefuureTfib
o Langurgs Osflelésab.
2 Beob vwgy sHUY owuldmear wLHGEL TWFHISDEW
3 &CaETEHeughH@GL vweatlBhss CouadmBb. ULRSET auanyeusn @
Queréled LweTUHSSLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

u@d - 1/ PART -1
@OIlY : () Sevensgl NlamssErs@n ellenL waflssa|ib. 20x1=20
(i) Gar@&s&siul(@erer mprem@ wrHm e safld Waseayb ghHyeLw
dlerLevws Corrds®sss GHNSLGLa L wlmaryn GCsigs
TS ELD.
Note : (i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write the
option code and the corresponding answer.
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L uerLmser wHpb uallsdr el eremig
(1) wHUY FwILGul L euf Guremmg
(<) uepenen curl

() @mepever e, SIH&G ellenereyseTHng)
(F) 20&E Mawareysmers QsrarmLg,
Goods and Services tax is

(a) like value added tax

(b) a multi point tax

(c) a single point tax with no cascading effects

(d) having cascading effect

2. (y-y)=m-x) Grei'nugj‘. GIEIGInY
() mngﬁ]s&mu_! ' (<) smlienau
(8) auanerCarienL e () CrrGamien
Y —y)=m(x—x,) gives the :
(a) Constant » (b) Slope
(©) Curve (d) Straight line

3. &g auams Smsmguia CurlyGu Grrg ?

(=) @eur pomiflenio (<) Beopayts Gumig
(@) SoCeori womflano () wphofleow

In which market form, does absence of competition prevail ?

(a) Duopoly (b) Perfect competition
(c) Oligopoly (d) Monopoly

4.  Qrgs wmré Csway 1,000, Gurss wrmb Gewea) 200 crafley Aursss Qsmameud

&S (Hs.

(<) 500 (<=y,) 800 (@) 20,000 (fF) 1,200

If total fixed cost (TFC) is 1,000 and total variable cost (TVC) is 200, then find the total cost :
(@) 500 (b) 800 (c) 20,000 (d 1,200
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apomiflenoudiay MR Garr (i) Gam g m@ Siflmsan,

(<24) AR («2p) TR (@) AC (7)) MC
In Monopoly, MR curve lies below __ curve,

(1) AR (b) TR (c) AC (d) MC

e Pncuagdear o_araf(®), QeualuiBaEssg @eaLGu o drar Guidurear GgrienLs

smeug T SepssliuGEngl.

(1) Gofliuy smiy () misiey sy

(@) WsSC® omiy (W) 2pusA ey

The functional relationship between “inputs” and “outputs” is called as

(a) Savings function (b) Consumption function

() Investment function (d) Production function

‘Gumedl eumyId’ eTeiiD &H(HSG! 2L en QFTienL_uig.

(1) eumgaT (<=4) M&srrGLm (@) wrragd (FF) Semeiv
The concept of ‘Quasi Rent’ is associated with :

(a) Walker (b) Ricardo () Marshall (d) Keynes
S L &G aatusnE WLrHnrs Tregld emwliL 2015 -1b <y erH

gaeurfl 1 -,1b BIeT eFHUBHSHIULL ).
(21) 6018 B (<) B Curs
() weflg 2 fleno =y emenTd () BHs @

The Planning Commission has been replaced by the on 1% January 2015.
(a) Law Commission (b) NITI Aayog
(c) Human Rights Commission (d) Finance Commission
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9,

10.

11.

12.

G erenad &mg_p&muu@ﬁmg}.

famane syrafl QaaeysGan

(<) ehudh (3),) Cpeneud

(Q) efipueean (7) AL

Long-run average cost curve is also called as curve.
(a) production (b) demand

() sales (d) planning

Qnffleel vwaur® sPwwrs QEmeEEn Curgl Qurgstl Lwetlr®
Heowaw oL fng.

(<=t) sWPlwiwrer (<)) @GemeuTen
(8) erdiwenpwime (F) o F&women
When marginal utility reaches zero, the total utility will be :
(a) Zero (b) Minimum

(c) Negative (d) Maximum

MUDRA aurd) Qawdu@ssiul L SameoLs sSarps.
(<21) 2010 (<) 2000 (@) 2015 (F) 2005

Identify the year of launch of MUDRA Bank :
(a) 2010 (b) 2000 (© 2015 (d) 2005

UGSTD @hsTearT(Hs L Sra
(1) 2007 - 2012 (%) 1992-1997 (@) 1997 - 2002  (F) 2002 - 2007

Tenth Five Year Plan period was :

(a) 2007 - 2012 (b) 1992 - 1997 (c) 1997 - 2002 (d) 2002 - 2007
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wiydaEluLL Caieeuiler oereilen g uueulld auphisiudin s

(<) GITHE Fned (e2,) Duwigerays sned

(@) Cpré aad (r7) o awrenind anedl

Wages that are paid on the basis of quantum of work done is g
(@)  Piece wages (b)  Nominal wages

(¢) Time wages (d)  Real wages

HQuan o pusHuder sOpBIH @HHW yereile Blenauier 2 drearsy.

(=) pge (<2b) QpeTDmD (D) @rerimd (/) premsmbd
In India’s total cement production, Tamil Nadu ranks :
(a) first (b) third (c) second (d) fourth

upprEGeDU QuIdeTTsTT Qadsansden < Afwi wrr ?

(=) QrmAesev (=) pLb Vg (@) Fruf_ser (FF) wrrasd
Who has given scarcity definition of ‘economics ?

(a) Robbins (b) Adam Smith () Robertson (d) Marshall

Qurmssl eflenL Csirs :

(1) Beos yri & () eremmbemi eflggiGseT
(2 wepger Yrid (i) Gmmed |
(3) smbue Yyl s (ii)) Ser

4) Qeargrflauiyts Yyl 8 (iv) e prigser
(1) ()-3i), (2)-(), 3)-(iv), (4)-(ii)

(=) (D)-(ii), (2)-(iv), (3)-(), (4)-(id)

(&) @)-(iv), ()-(idi), (3)-(ii), (4)-(0)

() (1)-(), (2)-G), (3)-(iv), (4)-(iii)

Match the following :

(1) Blue Revolution (i) Oilseeds
(2)  Yellow Revolution (ii) Shrimp
(3) Grey Revolution (iif) Fish

(4) Pink Revolution (iv) Fertilizers

(@)  ()-(ii), (2)-@). B)-v), (4)-(iD)
(b)  (1)-(iii), (2)-(iv), (3)-(1), (4)-(i)
(©  (D-(v), (2)-(iii), (3)-(ii), (4)-(i)
d)  (W)-Gi). (2-0), B)-(iv), (4)-(iid)
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17.

18.

19.

20.

i , _ i Qe QUMD e
QurmenrgrydHpareat Gurud Lflas DDA GO Ggen ILIDD

£ 2000
(1) 2008 (<21,) 1998 (@) 2010 () 2

” . . 2o e 2 1 o —
Amartya Kumar Sen received the Nobel Prize in Economics in the year

(@) 2008 (b) 1998 () 2010 (d) 2000

e dfld agiairar Quimargrhiamerds Qararr. BT &eT aflensuliar @pglwimreilen

Quib :
(=) @by (<) prenc (&) s () o
The position of Indian Economy among the other strongest economies in the world is :

(@) Fifth (b) Fourth (c) Tenth (d) Seventh

srmsfl e pusS (AP) -enws seamsHLl LweTUBD GSSHTLD
(<=t) TP/MP (<2,) ATP/N (@) TP/N (r7) ATP/AN
Formula for calculating ‘AP is :

(@) TP/MP (b) ATP/N (© TP/N (d) ATP/AN

“walsaimLw aurpsmsuiea eI pLelgdamssmarts uHll Qummetwied
2 TmUE D" erenm Samlwielr

(<31) 2,600l LDTTaG (=) L 1b VLG

(@) srpGeudgen (/) @ewemed Fmilemev

“Economics is a study of mankind in the ordinary business of life” - It is the statement of B
(a) Alfred Marshall (b) Adam Smith

(c) Samuelson (d) Lionel Robbins
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L@SH - 11/ PART - 11

GOy : amaCuabd g NamssEnsE oo wellssabn. ferr aram 30 -&@&

s Lnuwns eSen_waflssa)b. 7x2=14

Note : Answer any seven questions. Question No. 30 is Compulsory.

21.

23.

24.

25.

26.

27.

28.

29.

30.

o pusdHs srrefismer auasLBHSSIS.

Classify the factors of production.

LETey TR 6TETeT ?
What is meant by distribution ?

Qurss wrble 2 aEr’ B 2 HussH (GSDP) — UenTUMISSHE|LD.
Define Gross State Domestic Product (GSDP).

@rdwl durmerrgrrsdlen Gsed (h Quelenars Fanmis.

State any one feature of Indian Economy.

LPG Garetenseamwé Qewdugss STrenTid ereer ?
State the reasons for implementing LPG.

QeuaflliLenLwirend QFVe &ET GTemmed 6remes ?
What is meant by Explicit Cost ?

weafly Gubur (& ML QL e (HDI) wpmib eumpsass sré Gmuil Qe (PQLI)
g dweunenn CounuBsSgs.
What is the difference between HDI and PQLI ?

eflplLBIGmeT auamslILHSS 6T(1pss.

Write the classifications of Wants.

mameniley Qummeflwene QU TWIMIESELD.

Define Micro-economics.

Gum_ig uQ et SlgliuenLulled SkisTgenw euansLliL(HEss.
Classify the market on the basis of Competition.
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GIMINE siemeuGuigniid e clannds@hae aen_weflssan. e eran 40 -6&

U@ - 111/ PART - 111

SL_L_MWLONg eflenwiel e b, 7x3=21

Note : Answer any seven questions. Question No. 40 is Compulsory.

31.

33.

34.

35.

36.

37.

38.

39.

40.

EG&UTL_ sred Qgea eumerQam L B55 QUEDILIL G GL_@oT efleufEHayLD.

Explain the Long-run cost curves with suitable diagram.

Uy wHmib CGured eumyb — GCoumu(P551s.
Distinguish between Rent and Quasi-rent.

&ymo stGeurgwim Lipb) Am @Oy erpgs.
Write a short note on Village Sarvodhaya.

SHG -Wletr uarseners @Hi@s.
Mention the features of SHG.

LweTUm g e &AL QuIdLSET wreney ?
What are the important features of Utility ?

Hlegder Spdueoyser wreneu ?
What are the characteristics of Land ?

sCHI&E cumerGarHsafler LTUSET Wreney ?
What are the properties of Indifference curve ?

ellpuemer GlFea eremmmmed erenean ? igenen THSHIESTLHLaT eNerTé 6.
Explain the meaning of Selling Cost with an example.

S prigen seflo cuemhiser LHH GHLIL er(pgs.

Write a note on mineral resources in Tamil Nadu.

Amuws womfew eremmed eremen ?
What is Bilateral Monopoly ?
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u@$ - IV / PART - IV

GO : IS cllemés@EnsEnd ofeweissa,b, 7x5=35

Note : Answer all the questions.

41. (=) flaoCamr wpomiflewuler LT smar eNlemd 5.
S{6V60G)
(=) eodu sted Aswas Carhsmas sEbhs UL S5 e alaufldsayb. -

(@) Describe the features of Oligopoly.
OR

(b) Discuss the Short-run cost curves with suitable diagram.

42. (1) auanlls e B GLeLWTESUILLLSHSTE STrammbismerds @GOG s.
SIVeVG)
(<25)2015-2020 <»b Yy&TgpsTar gHmwd, @ADsELHE Qamdaransufen
SApinQuierysener aSlersEs.
(a) Explain the objectives of nationalization of Commercial banks.

OR
(b) Describe the salient features of EXIM policy (2015 - 2020).

43. (=) Qur@ellweier LuGSsTLey WHHD UsTEssTiIe) Wapselear Ly samer
elend: G s5.

S|V G|
(<=,) wrmib g ellenere efflenws auarLILSgIL e oferé@s.
(a) Explain various steps of Deductive and Inductive method in Economics.

OR

(b) Explain the Law of Variable Proportions with the diagram.
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44. (=) Gpoeu QpHlpsSlenws erel(HLD PEODSET Wireneu ?
SIVVG)
(=) sLer flf auligs Cariurlen. eflard@s.

(@) What are the methods of measuring Elasticity of Demand ?

OR

(b) Elucidate the Loanable Funds theory of Interest.

45. (=) Q.. CussT é{@fra;@ml;m WwsHw QurmerrsTyds HHSSIS® T
efleT& G5 .

S0
(<=3) MamiCGLmellen eunys Cariumienl rHSSHSSTLHLe afleufiGsHaid.
(a) Explain the main economic ideas of B.R. Ambedkar.

OR

(b) Ilustrate the Ricardian Theory of Rent.

46. () 2AT&HE HLNE@HEESTET SGTTETRISEET <TG,
S
(=) 8D Brigayerer LOGam umFWTar QHDE elaThsmer eNeuféssaLb.
(@) Analyse the causes for Rural Indebtedness.

OR

(b) Explain the various sources of energy in Tamil Nadu.

kindly send me your key Answers to our email id - padasalai.net@gmail.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

47,

www.Padasalai.Net www.Trb Tnpsc.com

11 7647

(=) ()  sefly eopulla Qurmertgrrl LwearLrGsar gGaab apemdlener
CT(P&IS. ,
(i) eaps il @eousd HssQiEstar sryanisaid gGaeapid @r,r@&mq,man& FamIs.
3606V 5
(<) Sproi elFeows vwauBsE Qar@ssiiul Herer CriGar (& Fwemumr@E-
HEHEGSS STe| SrenTa.
7X1—xy— x3=0
10x, - 2x, +x3%8
6x +3x,— 2x3=7
(@) . (i) Write any three uses of Mathematical Methods in Economics.
(ii) State any two causes for housing problems in rural areas.
- OR
(b)  Solve the following linear equations by using Cramer’s rule.
7x;—xy—x3=0 -
10x; —2x, +x3=8
6x1+3x,—2x,=7

-00o0-
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